
§·¤æ§ü / Unit-I

1. È¤×ü ÂÚU ·¤ÚU Ü»æÙð â¢Õ¢Ïè ÂýæßÏæÙæð´ ·¤è çßSÌæÚUÂêßü·¤
çßßð¿Ùæ ·¤èçÁ°Ð °·¤ È¤×ü ·¤æð ÎðØ ·¤ÚU ·¤è »‡æÙæ
·¤ÚUÙð ·¤è ÂýçßçÏ â×Ûææ§°Ð

Discuss in detail the main provisions
regarding the taxation of firms. Explain the
procedure of computation of tax payable by
firm

¥Íßæ / OR
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Time : Three Hours] [Maximum Marks : 80

ÙôÅU Ñ âÖè ÂýàÙæð ´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð ´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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ÖæÚUÌ àæé»ÚU çÜç×ÅðUÇU °·¤ ÖæÚUÌèØ ·¢¤ÂÙè ãñU, çÁâ×ð´
ÁÙÌæ ·¤æ âæÚUßæÙ çãUÌ ãñUÐ xv ×æ¿ü, w®w® ·¤æð
â×æŒÌ ãUæðÙð ßæÜð ßáü ·ð¤ çÜ° §âÙð çÙ`ÙçÜç¹Ì
âæÏÙæð´ âð ¥æØ ÂýæŒÌ ·¤è ãñU Ñ

G
(a) ¿èÙè ·ð¤ ÃØæÂæÚU âð ÜæÖ xw,®®,®®®

(b) X çÜç×ÅðUÇU °·¤ ÖæÚUÌèØ
·¢¤ÂÙè âð ÜæÖæ¢àæ (â·¤Ü) w,{®,®®®

(c) ßñ@âÙ çÜç×ÅðUÇU °·¤ ¥-ƒæÚðUÜê
·¢¤ÂÙè âð ÜæÖæ¢àæ (â·¤Ü) v,y®,®®®

(d) °·¤ ÖßÙ ·ð¤ ãUSÌæ‹ÌÚU‡æ
âð Âê¡Áè ÜæÖ (¥ËÂ·¤æÜèÙ) x,}®,®®®

(e) ¥¢àæ ·ð¤ ãUSÌæ‹ÌÚU‡æ âð Âê¡Áè
ÜæÖ (¥ËÂ·¤æÜèÙ)
(ÏæÚUæ 111A ·ð¤ ¥‹Ì»üÌ) v,®®,®®®

(f ) ·ð¤‹¼ýèØ âÚU·¤æÚU ·¤è
ÂýçÌÖêçÌØæð´ ÂÚU µØæÁ (â·¤Ü) |®,®®®

·¢¤ÂÙè Ùð z ×æ¿ü, w®w® ·¤æð ÂýÏæÙ×¢˜æè ¥·¤æÜ

âãUæØÌæ ·¤æðá ×ð´ G w,®®,®®® ÎæÙ çÎØð ¥æñÚU §â

ÚU·¤× ·¤æð ¿èÙè ·ð¤ ©UˆÂæÎÙ âð ÜæÖ ·ð¤ M¤Â ×ð´

ª¤ÂÚU ÂýÎçàæüÌ ÚU·¤× (G xw Üæ¹) ·¤è »‡æÙæ ·¤ÚUÌð

â×Ø ƒæÅUæØæ ÙãUè´ »Øæ ãñUÐ ¥æÂ·¤æð ·¤ÚU-çÙÏæüÚU‡æ

ßáü w®w®-wv ·ð¤ çÜ° ·¢¤ÂÙè ·¤è ·¤ÚU-Øæð‚Ø ¥æØ

°ß¢ ·¤ÚU-ÎæçØˆß ·¤è »‡æÙæ ·¤ÚUÙè ãñUÐ
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The Bharat Sugar Ltd. is an Indian company
in which the public are substantially
interested. Its incomes for the year ended
31st March, 2020 were derived from the
following sources :

G
(a) Profit from the

business of sugar 32,00,000
(b) Dividend (Gross) from

X Ltd. an Indian company 2,60,000
(c) Dividend (Gross) from Waxon

Ltd. a non-domestic company 1,40,000
(d) Short-term capital gains

from transfer of a building 3,80,000
(e) Short-term capital gains from

transfer of shares (U/S 111A) 1,00,000
(f`) Interest on Central

Government Securities (Gross) 70,000

The company has paid a sum of G 2,00,000
to the Prime Minister’s Drought Relief Fund
on 5th March, 2020 and this sum was not
deducted while arriving at the profit shown
above (G 32 lacs) as profit from the
production of sugar. You are required to
calculate the taxable income and net amount
of income tax payable by the company for
the Assessment Year 2020-21.
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§·¤æ§ü / Unit-II

2. çßçÖ‹Ù Âý·¤æÚU ·ð¤ ·¤ÚU-çÙÏæüÚU‡æ ·¤æð â×Ûææ§°Ð ·¤ÚU-

çÙÏæüÚU‡æ ·¤è ·¤æØüçßçÏ ·¤æ ß‡æüÙ ·¤èçÁ°Ð

Discuss the various types of Assessment.
Describe the procedure of Assessment.

¥Íßæ / OR

¥æØ ·¤æ çßßÚU‡æ ·¤ÚUÙð â¢Õ¢Ïè ¥æØ·¤ÚU ¥çÏçÙØ×

·ð¤ ÂýæßÏæÙ â×Ûææ§°Ð

Discuss the provisions of Income Tax Act
relating to filing of return of income.

§·¤æ§ü / Unit-III

3. ·¤ÚU ¥Âß¢¿Ù °ß¢ ·¤ÚU çÙØæðÁÙ ×ð´ @Øæ ¥‹ÌÚU ãñU?
¥Âß¢¿Ù ÚUæð·¤Ùð â¢Õ¢Ïè ÂýæßÏæÙ ÕÌæ§°Ð

What is the diference between tax evasion and
tax planning ? Explain the provisions for
restriction of tax evasion.

¥Íßæ / OR

·¤ÚU çÙØæðÁÙ ç·¤âð ·¤ãUÌð ãñ´U? §â·¤è ¥æßàØ·¤Ìæ

@Øæð´ ãñU? ·¤ÚU çÙØæðÁÙ ·¤è â×SØæ¥æð´ ·¤æ ß‡æüÙ

·¤èçÁ°Ð
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What do you mean by Tax Planning ? Why is
it necessary ? Describe the problems of Tax
Planning.

§·¤æ§ü / Unit-IV

4. ·¤ÚU ÎæçØˆß ‹ØêÙÌ× ·¤ÚUÙð ·ð¤ çÜ° Âê¡Áè â¢ÚU¿Ùæ ·ð¤

â¢Õ¢Ï ×ð´ çß¿æÚU‡æèØ çÕ‹Îé â×Ûææ§°Ð

Discuss the considerable points regarding
capital structure for minimizing tax liability.

¥Íßæ / OR

°·¤ ·¢¤ÂÙè ·¤è G v ·¤ÚUæðÇ¸U ·¤è ¥¢àæ-Âê¡Áè ãñU ¥æñÚU

ßãU ¥ÂÙð çßSÌæÚU ·¤æØü·ý¤× ·ð¤ ÂýçÌ ¥çÌçÚU@Ì G }®

Üæ¹ çÙßðçàæÌ ·¤ÚUÙð ·¤æ çß¿æÚU ·¤ÚU ÚUãUè ãñUÐ ·¤ÚU

çÙØæðÁÙ ·¤è ÎëçcÅU âð çÙ`ÙçÜç¹Ì ×ð´ âð âßæðüîæ×

çß·¤ËÂ â×Ûææ§°U Ñ

(a) G }® Üæ¹ ·¤è ¥¢àæÂê¢Áè çÙ»üç×Ì ·¤ÚUÙæÐ

(b) v}' ßæçáü·¤ ·¤è ÎÚU ÂÚU G w® Üæ¹ ©UÏæÚU

ÜðÙæ ¥æñÚU vv' ßæçáü·¤ ·¤è ÎÚU ÂÚU G w®

Üæ¹ «¤‡æÂ˜æ ÁæÚUè ·¤ÚUÙæ °ß¢ àæðá ÚUæçàæ ·¤ô

ÁÙÌæ ×ð´ ¥¢àæ çÙ»üç×Ì ·¤ÚU â¢·¤çÜÌ ·¤ÚUÙæÐ
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(c) vv' ßæçáü·¤ ·¤è ÎÚU ÂÚU G z® Üæ¹ «¤‡æÂ˜æ

ÁæÚUè ·¤ÚUÙæ °ß¢ àæðá ÚUæçàæ ÁÙÌæ ×ð´ ¥¢àæ

çÙ»üç×Ì ·¤ÚU â¢·¤çÜÌ ·¤ÚUÙæÐ

µØæÁ °ß¢ ·¤ÚU ÎðÙð âð Âêßü ÂýçÌÈ¤Ü ÎÚU x®' ãñUÐ

·¤ÚU ·¤è ÎÚU x®' + v®' ·¤è ÎÚU âð ¥çÏÖæÚU °ß¢

x' ·¤è ÎÚU ÂÚU çàæÿææ ©UÂ·¤ÚUÐ

A company has share capital of G 1 crore and
is planning to invest an additional fund of
G 80 lakhs towards its expansion programme.
Suggest the best option from the following
from tax planning point of view :

(a) To issue share capital of G 80 lakhs.

(b) To borrow G 20 lakhs @ 18% p.a. and to
issue Debentures of G 20 lakhs @ 11% p.a.
and the balance amount be collected by
issuing shares in the public.

(c) To issue Debentures for G 50 lakhs
@ 11% p.a. and the balance be collected
by issuing shares in public.

Rate of return is 30% before paying any
interest and tax. Rate of tax is 30%
+ surcharge @ 10% and Education Cess
@ 3%.
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§·¤æ§ü / Unit-V

5. °·¤ ·¢¤ÂÙè ·¤è ¥Ùé×æçÙÌ â·¤Ü ·é¤Ü ÜæÖ
G x®,®®,®®® ãñUÐ §â×ð´ v{ çâÌ`ÕÚU, w®v~ ·¤æð
¥çÁüÌ Îèƒæü·¤æÜèÙ Âê¡Áè ÜæÖ ·ð¤ G v®,®®,®®®
âç`×çÜÌ ãñ´ UÐ ØãU ×æÙÌð ãéU° ç·¤ ©UÎ»× SÍæÙ ÂÚU
G v,®®,®®® ·¤è ·¤ÅUæñÌè ãUæð»èÐ »Ìßáü w®v~-w®
·ð¤ çÜ° ¥ç»ý× ¥æØ-·¤ÚU ·¤è »‡æÙæ ·¤èçÁ° (·¤ÚU-
çÙÏæüÚU‡æ ßáü w®w®-wv)

Estimated gross total income of a Company
is G 30,00,000 which includes G 10,00,000 on
account of long-term capital gains earned on
16th September, 2019. Compute advance tax
payable by the company assuming G 1,00,000
shall be deducted at source during the
financial year 2019-20 (Assessment year
2020-21)

¥Íßæ / OR

â·¤Ü ·é¤Ü ¥æØ ×ð´ âð Îè ÁæÙð ßæÜè °ðâè Âæ¡¿
·¤ÅUæñçÌØæð´ ·¤æð â×Ûææ§° Áæð ·¤ÚU çÙØæðÁÙ ·¤è ÎëçcÅU
âð ×ãUˆßÂê‡æü ãñUÐ

Discuss any five deductions from gross total
income which are important for tax planning.
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